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BT T2 MRl T8 T =% BT % Mg T8 T =%
HX 40,016 86,241 41,085 45,156
RIRET1T 6 15 9 6
RIRET2T 26 54 25 29
RIRET3T 177 584 285 299
RIRET4T 398 958 478 480
B 607 1,611 797 814
REH 2,676 6,001 2,791 3,210
L&A 4,341 9,469 4,393 5,076
5E 2,646 5,945 2,869 3,076
B AN 1,310 2,849 1,334 1,515
BERT 1,382 1,965 952 1,013
BER2T 762 1,377 663 714
BERST 590 1,390 669 721
B 2,734 4,732 2,284 2,448
BEXRE 275 652 319 333
= 2,218 4,982 2,357 2,625
hERE 647 1,435 663 772
e 2,473 5,087 2,449 2,638
25 L ET 2,349 5,110 2,439 2,671
B &AL BT 74 150 62 88
HEFILET1T 560 1,200 564 636
HEFILET2T 621 1,300 606 694
HEZFILAT3T 652 1,489 733 756
g 1,907 4,139 1,965 2,174
B & it B Fr ET 686 1,561 753 808
BHEREBET1T 581 1,178 566 612
BHERERET2T 770 1,737 827 910
BHERERETST 781 1,595 721 874
BHERERET4T 516 957 450 507
HEKERETST 845 1,699 809 890
HEERET6T 880 1,911 926 985
BHERERET7T 878 1,841 915 926
HERERETST 69 211 103 108
£t| 5320 11,129 5,317 5,812
HEF R FET 1,982 4,131 2,028 2,103
S|EFET1T 629 1,586 790 796
S|EFET2T 71 1,743 818 925
S|EFET3 T 733 1,380 636 744
g 2,133 4,709 2,244 2,465
ERE1T 575 1,306 625 681
EIRET2T 387 1,032 514 518
EREIST 510 1,330 651 679
EIRETAT 689 1,462 651 811
EIZEIST 534 1,105 570 535
g 2,695 6,235 3,011 3,224
ME A 2,903 6,253 2,977 3,276
J\THET1T 37 39 15 24
J\THET2T 26 60 30 30
J\THEI3T 51 112 50 62
B 114 211 95 116
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